
INSTRUCTION MANUAL

WWW.NEOMOUNTS.COM

FPMA-W460BLACK
EN 

NL 

DE 

FR 

IT 

ES 

PT 

DK 

NO 

SE 

FI 

PL 

CS 

SK 

RO 

TV wall mount

TV wandsteun

TV Wandhalterung

Support mural pour TV

Supporto TV a parete 

Soporte de pared para TV

Suporte de parede para TV

Vægbeslag TV

TV veggfeste

TV-väggfäste

TV seinäteline

Uchwyt ścienny do TV

Nástěnný držák na TV

Nástenný držiak na TV

Suport TV de perete

100mm

75mm



Remove the VESA plate from the mount
Verwijder de VESA plaat van de steun
Entfernen Sie der VESA-Platte von die Halterung
Retirez la plaque VESA du support
Rimuovere la piastra VESA dal supporto
Desconecte la placa VESA del soporte
Remova a placa VESA do suporte
Zdejmij płytkę VESA z uchwytu

EN
NL
DE
FR
IT
ES
PT
PL

PARTS

FPMA-W460BLACK

STEP 1

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Distance to wall

Gas spring

Quick-release VESA 

Pull & release brackets

Media player space

Level adjustment

Cable management

Padlock

Push out / Pop out

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Distance to wall

Gas spring

Quick-release VESA

Pull & release brackets

Media player space

Level adjustment

Cable management

Padlock

Push out / Pop out

0-40 kg

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Distance to wall

Gas spring

Quick-release VESA 

Pull & release brackets

Media player space

Level adjustment

Cable management

Padlock

Push out / Pop out

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Distance to wall

Gas spring

Quick-release VESA

Pull & release brackets

Media player space

Level adjustment

Cable management

Padlock

Push out / Pop out

75x75 - 
600x400 mm

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Distance to wall

Gas spring

Quick-release VESA 

Pull & release brackets

Media player space

Level adjustment

Cable management

Padlock

Push out / Pop out

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Distance to wall

Gas spring

Quick-release VESA

Pull & release brackets

Media player space

Level adjustment

Cable management

Padlock

Push out / Pop out
6-51 cm

Tool Pencil Drill Tape measureTool Pencil Drill Tape measure

STEP 1

(x1) (x1) (x1) (x2) (x1) (x1) (x1)

A. M6,3x65
(x3)

B. Ø10x61
(x3)

C. Ø5xØ16x1,5
(x4)

D. (x4) E. Ø6,5xØ16x1,5
(x3)

F. M5x30 
(x4)

G. M5x15 
(x4)

H. M6x30 
(x4)

I. M6x15 
(x4)

J. M8x30 
(x4)

K. M8x15 
(x4)

L. S=6 
(x1)

M. S=13 
(x1)

N. M8x12 
(x8)

O. 
(x4)



Install the wall plate on a stud wall
Bevestig de muurbeugel aan een houten balk
Befestigen die Wandplatte auf einem Holzbalken
Installez la plaque murale sur un mur en bois ou en
plaque au platre
Installare la piastra di parete su un perno in legno
Fije el soporte de pared a una viga de madera
Instale a placa do suporte de parede num poste de
madeira
Zamontuj płytę ścienną do drewnianej powierzchni

EN
NL
DE
FR
 
IT
ES
PT

PL

Install the wall plate on a solid brick or concrete wall
Bevestig de muurbeugel aan een stevige stenen of
betonnen muur
Installieren Sie die Wandplatte an einer soliden Ziegel- 
oder Betonwand
Installez la plaque murale sur un mur de brique ou de
béton
Installare la piastra di parete su un muro di mattoni 
o cemento
Fije el soporte de pared a una piedra sólida o muro de
hormigón
Instalar a placa de parede numa parede sólida de tijolo  
ou betão
Zamontuj płytę ścienną do ściany z cegły lub betonu

EN
NL
 
DE

FR

IT

ES

PT

PL

STEP 2

STEP 2

A

B

E

A

E

A

B



Use spacers if necessary
Gebruik afstandhouders indien nodig
Verwenden Sie Distanzscheiben wenn nötig
Utilisez des entretoises si nécessaire
Utilizzare distanziatori, se necessario
Utilice espaciadores si es necesario
Utilize separadores se necessário
Użyj dystansów jeśli jest taka potrzeba

EN
NL
DE
FR
IT
ES
PT
PL

Place the decorative covers
Plaats de decoratieve afdekkapjes
Platzieren Sie die dekorativen Abdeckungen
Placez les couvertures décoratives
Posizionare le coperture decorative
Coloque las tapas decorativas
Colocar as tampas decorativas
Umieścić osłony dekoracyjne

Attach the VESA plate to the screen
Bevestig de VESA-plaat aan het scherm
Befestigen Sie die VESA-Platte am Bildschirm
Fixer la plaque VESA à l’écran
Fissare la piastra VESA allo schermo
Coloque la placa VESA en la pantalla
Fixe a placa VESA ao ecrã
Przymocuj płytkę VESA do ekranu

EN
NL
DE
FR
IT
ES
PT
PL

EN
NL
DE
FR
IT
ES
PT
PL

STEP 3

STEP 4 A

OPTION

D
C

D

F

H / J

I / K

G

C



Install the adapter brackets and attach the VESA plate  
to the screen
Bevestig de adapter steunen en bevestig de VESA plaat 
aan het scherm
Montieren Sie die Adapterhalterungen und befestigen  
Sie die VESA-Platte an den Bildschirm 
Fixer les supports adaptateurs et fixez la plaque VESA  
à l’éran 
Il montaggio del adattatore e collegamento del piatto 
VESA al monitor 
Instalación de brazos adaptadores y coloque la placa VESA 
en la pantalla 
Instalação de braços adaptadores e colocar a placa VESA 
no monitor 
Zainstaluj ramiona uchwytu i montaż płytki VESA do 
monitora

Use spacers if necessary 
Gebruik afstandhouders indien nodig 
Verwenden Sie Distanzscheiben wenn nötig 
Utiliser des entretoises si nécessaire 
Utilizzare distanziatori, se necessario 
Utilice separadores si es necesario 
Utilize separadores se necessário 
Użyj dystansów jeśli jest taka potrzeba 

EN

NL

DE

FR

IT
 
ES

PT

PL

EN
NL
DE
FR
IT
ES
PT
PL

STEP 4

OPTION

B

1

2

3

s

N

N
O

D
C

C

D
H / J

I / K

F

G



Attach the screen to the bracket and secure it
Bevestig het scherm op de beugel en zet vast
Befestigen Sie den Bildschirm an der Halterung
und sichern Sie ihn
Attachez l’écran au support et fixez-le
Fissare lo schermo alla staffa e fissarlo
Coloque la pantalla en el soporte y fíjela
Fixar o ecrã ao suporte e fixá-lo
Przymocuj ekran do uchwytu i zabezpiecz go

EN
NL
DE

FR
IT
ES
PT
PL

STEP 5

Adjust the mount to the desired position and loosen or
tighten the screws if necessary
Stel de steun in op de gewenste positie en draai de schroe-
ven vaster of losser indien nodig
Bringen Sie die Halterung in die gewünschte Position, durch 
lockern oder anziehen der Schrauben
Ajustez le support à la position souhaitée et serrez ou desser-
rez les vis si nécessaire
Regolare il supporto nella posizione desiderata e allentare o 
serrare le viti se necessario
Coloque el soporte en la posición deseada y gire los tornillos  
si es necesario
Ponha o suporte na posição desejada e afrouxe ou aperte os 
parafusos, se necessário
Dostosuj pozycję uchwytu do twoich wymagań i poluzuj zaciś-
nij śrubki, jeśli to konieczne

EN

NL

DE

FR

IT

ES

PT

PL

STEP 6

L

+5°

-15°



+5°



23.11


